April 20-24
Debt

Open the Power Point on “Debt” read and view the numerous links.
Read through the article “The Cost of Government Debt in Canada, 2016”  and write a one page summary. (Scroll down on this Word Doc)

After completing this exercise, scroll down, read the article “Debt, Debt, Debt” and answer Question a) top right.
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*1.3 trillion ...

Budget deficits and increasing debt are key fiscal issues as the federal and provincial
governments prepare to release their budgets this year. Combined federal and provincial
net debt has increased from $834 billion in 2007/08 to a projected $1.3 trillion in
2015/16. This combined debt equals 64.8% of the economy or $35,827 for every man,
woman, and child living in Canada.

Debt accumulation has costs. One major consequence is that governments must make
interest payments on their debt similar to households that pay interest on borrowing
related to mortgages, vehicles, or credit card spending. Spending on interest payments
consumes government revenues and leaves less money available for other important
priorities such as spending on health care and education or tax relief.

Canadian governments (including local governments) collectively spent an estimated
$60.8 billion on interest payments in 2014/15. That works out to 8.1% of their total
revenue that year. To further put the amount spent on interest payments in perspective,
it is more than what is spent on pension benefits through the Canada and Quebec
Pension Plans ($50.9 billion), and approximately equal to Canada’s total public
spending on primary and secondary education ($62.2 billion, as of 2012/13, the last year
for which we have finalized data).

New Brunswick:

The 2018-19 budget projects a deficit of $189 million, and adds $372.3 million to a net
debt that's now set to hit $14.4 billion by the end of March 2019. That's about $19,050
for every man, woman and child in the province.

*The annual cost of servicing the debt is about $675 million.
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Activity

Hard times have come. The
MacPhersons tell their daughter
that from now on she must pay for
the following things:

* drinks at lunch
* bus fare ‘
» school supplies

Total cost: $25 per month

The young student must look
for a job. She decides to work for a
small company distributing
advertising flyers. The neighbour-
hood where the student must
deliver these flyers is quite far from

where she lives, so she needs to buy

a bicycle. The owner of the
company makes the student an
offer: he will lend her $200 at an
interest rate of 10% per year, but
on one condition: she cannot quit
the job before she has paid back
the capital and the interest owing,
on her debt. Based on earnings of
$60 per month, she makes the
following calculations:

Income:
$60 per month X 6 months =3360

Debt:

Capital to repay =$200
Interest to pay

(for 6 months) =$10
Personal expenses

$25 x 6 months =$150
Total Debt

($200 + $10 + §150) =$360
Balance:

(5360 - $§360) =30

“So, after 6 months, I will have
a bicycle and I will have paid for
my expenses.

“ After those first six months, 1
will be able to start saving. I will
have $210 every six months.”

But after one month of work,
the owner tells her that her route
has been cut in half. The monthly
pay will then be $30.

The new calculation:

Income:

$60 X 1 month =$60
$30 X 5 months =$150
Total =$210

Expenses: =5150

Money available to repay prin-
cipal and interest

($210 - $150) =$60
Remaining debt
($210 - $60) =$150

So, at the end of six months,
the debt on the capital will be $150
to which 10% interest, or $7.50,
must be added (for the next six
months), making it $157.50.

Questions:
a) How long will the student have
to work to eliminate the debt?

b) At the end of one year, the
expenses have increased by 10%.
The income stays the same. Now
how long will she have to work to
repay the debt?

¢) Now suppose that she has a flat
tire that has to be fixed. Figure out
the repair cost. How will this affect
the debt repayment?

You can also propose other
problems, such as an illness that
requires rest at home or a vacation,
which will complicate the bud-
getary predictions.

d) What will happen if the
student cut back her necessary
expenses?

e) How could the rules be changed
to permit her to quit the game?

We can draw an analogy here
with developing world countries.

The owner is all-powerful in
this case. He provides the
employment and the loan money.
He sets the interest rate, decides on
the route and, thus, the amount of
money being paid. He plays the
role of the rich countries.

This is the student’s only source
of income. She is therefore at the
mercy of the owner. If she cuts back
on her required expenses, she will
no longer have what she needs to
work well and be in shape. If she
sells her bicycle, she can no longer
work. Her contract stipulates that
she cannot quit her job without
having paid back all of her debt.

Can she get out of it without
outside help?

What type of help will she be
able to accept?

Enjoy the discussion!
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